WWW.r

Servicio de Att. a

(.J AIGNEP Serie 55000
sooso N Code Tube M L CH A max Pack.
50050 00 NO7 3 M10x1 26 14 5 10
RACCORD?OI:/:IIlF\thISEg ;NTERMEDIO DI ATTRAVERSAMENTO 50050 00 NO1 4 M12x1 315 17 7 10
_fgb’g}“vg% CHRAUBUNG 50050 00 NO6 5 M14x1 33 17 7 10
RACCORD TRAVERSEE DE CLOISON 5005000N02 6 Miaxi 35 17 95 10
RACOR RECTO INTERMEDIO PASATABIQUES 50050 00NO3 8 M16x1 37 19 10.5 10
CONEXAQ PASSA-MURO RETA TUBO-TUBO 50050 00NO4 10  M20x1 43 24 125 10
50050 00NO5 12 M22xI1 48 26 165 10
. 50050 00 NO8 14  M23x1 49 27 16.5 10
A max
CH
-
551 1 1 Code Tube A B L1 L2 CH1 CH2 D Pack.
5511100001 4 18 55 165 165 7 13 10 10
AT A oo I SO | giichons 4 47 s 7 %8
WINKELVERSCHRAUBUNG KONISCH (DREHBAR) “UNIVERSAL SHORT" 5511100003 5 8 55 20 175 9 13 12 10
EQUERRE ORIENTABLE MALE, CONIQUE “UNIVERSAL SHORT” 5511100004 6 178 55 205 175 9 13 12 10
RACOR A L ORIENTABLE MACHO CONICO “UNIVERSAL SHORT” 5511100005 6 1/4 7 205 189 9 15 12 10
CONEXAO MACHO EM “1” ORIENTAVEL COM ROSCA “UNIVERSAL SHORT” 5511100006 6 3/8 75 205 20 9 17 12 10
5511100007 6 12 9 25 22 9 21 12 10
5511100008 8 1/8 55 22 185 10 13 14 10
1 5511100009 8 V4 7 22 20 10 15 14 10
o 5511100010 8 3/8 75 22 205 10 17 14 10
k 5511100011 8 12 09 22 23 10 21 14 10
o AV - 5511100012 10 14 7 265 218 13 16 17 10
3oy ] 5511100013 10 3/8 75 265 218 13 17 17 10
® 5511100014 10 12 9 265 243 13 21 17 10
__J 5511100015 12 14 7 30 231 16 16 20 10
A 5511100016 12 3/8 75 30 231 16 17 20 10
5511100017 12 12 9 30 256 16 21 20 10
5511100018 14 3/8 75 31 265 18 20 21 10
5511100019 14 12 9 31 27 18 21 21 10
551 1 6 Code Tube A B L1 L2 CH1 CH2 D Pack.
5511600001 4 M3x05 3 165 12 7 9 10 10
g:;ﬁgzg?ngm?zfgz’?)?;)—fo“g%ﬁﬂ& LC)"-'NDR'CO 5511600002 4 M5 36 165 138 7 9 10 10
WINKELVERSCHRAUBUNG ZYLINDRISCH (DREHBAR) 5511600003 4 M7x1 48 165 144 7 9 10 10
EQUERRE ORIENTABLE MALE, CYLINDRIQUE 5511600004 4 1/8 54 165 15 7 13 10 10
RACOR A L ORIENTABLE MACHO CILINDRICO CON TORICA 5511600005 4 174 71 165 166 9 16 10 10
CONEXAO MACHO EM "L ORIENTAVEL COM ROSCA PARALELA 55116 00007 5 M5 36 20 147 9 9 12 10
5511600009 5 1/8 54 20 158 9 13 12 10
55116 00011 6 M5 36 205 147 9 9 12 10
5511600013 6 1/8 54 205 158 9 13 12 10
5511600014 6 14 71 205 175 9 16 12 10
5511600015 6 3/8 81 205 19 9 20 12 10
5511600016 6 12 96 205 21 9 25 12 10
5511600017 8 1/8 54 22 194 10 13 14 10
5511600018 8 14 70 22 187 10 16 14 10
5511600019 8 3/8 81 22 201 10 20 14 10
5511600020 8 12 96 22 221 10 25 14 10
55116 00021 10 14 71 265 228 13 16 17 10
5511600022 10 3/8 81 265 223 13 20 17 10
5511600023 10 12 96 265 238 13 25 17 10
55116 00 024 12 14 71 30 241 16 16 20 10
55116 00025 12 3/8 81 30 236 16 20 20 10
55116 00026 12 172 96 30 251 16 25 20 10
5511600027 14 3/8 81 31 281 18 20 21 10
5511600028 14 12 96 31 261 18 25 21 10




WWW.r

Servicio de Att. a

@ AIGNEP Serie 55000
55126 Code Tube A B L1 L2 CHI CH2 D Pack

55126 00 002 4 M5 36 165 275 7 8 10 10

EXTENDED ORENTING ELBOW MALE ADAPTOR (ARALLEL, | 5512600004 4 1/8 54 165 285 7 12 10 10
VERLANGERTE WINKELVERSCHRAUBUNG ZYLINDRISCH 5512600008 6 M5 36 205 295 95 8 125 10
EQUERRE PROLONGEE MALE ORIENTABLE CYLINDRIQUE 5512600009 6 18 54 205 295 9 12 125 10
RACOR A L ORIENTABLE PROLONGADO MACHO CIL.CON TORICA 55126 00 013 8 1/8 54 225 345 10 12 14 10
CONEXAO COTOVELO ORIENTAVEL PROLONGADO ROSCA MACHO PARALELA 5512600014 8 174 70 225 335 10 15 14 10

CH1

CH2

L2

Code D1 D2 L D CH Pack.
55130 m 55130 00 002 16.5 10 9 10

4 4
E&%ﬁgg&?&gﬁmmo 5513000003 5 5 20 12 11 10
INKELVERSCHRAUBUNG 5513000004 6 6 205 12 il 10
RACCORD EQUERRE 5513000009 8 6 225 14 13 10
RACORA L INTERMEDIO 55130 00 005 8 8 22 14 13 10
CONEXAO EM “L" TUBO-TUBO 0 6 26 17 16 10
5513000010 10 8 26 17 16 10
5513000006 10 10 26,5 17 16 10
5513000011 12 10 30,5 20 19 10
) 5513000007 12 12 30 20 19 10
. 5513000008 14 14 305 21 20 10

NG i
D2

5 5 1 40 m Code Tube A B L1 L2 CH1 D Pack.
5514000001 4 4 17 165 208 7 10 10
g:/gﬁ%ggggvgo" CODALISCIA CORTA 5514000002 4 6 19 165 228 7 10 10
INKELSTECKVERSCHRAUBUNG KURZ 5514000005 6 6 19 205 237 9 125 10
RACCORD EQUERRE ENCLIQUETABLE 5514000006 6 4 17 205 217 9 125 10
RACOR A L ORIENTABLE CON ESPIGA LISA CORTA 6 8 20 225 26 10 14 10
CONEXAO EM “I COM PONTA LISA E CURTA 5514000007 8 8 20 2 26 10 14 10
5514000008 8 10 218 22 276 10 14 10
i 5514000009 10 10 225 265 30 13 17 10
o 5514000010 10 12 247 265 322 13 17 10

o

@; 5514000011 12 12 255 30 335 16 20 10

L2

2.10




Servicio de Att.

H AIGNEP Serie 55000

55 1 50 Code Tube A B L1 L2 CH1 D Pack.
5515000001 4 4 28 165 318 7 10 10
Rog/if/%?/ggg(;vgw CODA LISCIA LUNGA 5515000002 4 6 305 165 343 7 10 10
INKELSTECKVERSCHRAUBUNG LANG 5515000005 6 6 323 205 37 9 125 10
RACCORD EQUERRE ENCLIQUETABLE, RALLONGE 5515000006 6 4 30 205 347 9 125 10
RACOR A L ORIENTABLE CON ESPIGA LISA LARGA 5515000007 8 8 36 22 42 10 14 10
CONEXAO EM “I” COM PONTA LISA £ LONGA 5515000008 8 10 375 22 431 10 14 10

5515000009 10 10 408 265 483 13 17 10
5515000010 10 12 432 265 507 13 17 10
5515000011 12 12 47 31 55 16 20 10

CH1

L2

55 1 60 Code Tube A B L1 L2 CH1 D Pack.
55160 00 001 4 4 17 12,5 21 7 10 10
RAOCCORDO A 45° CON CODA LISCIA CORTA 55160 00 005 6 6 19 20,5 235 9 12 10
45° ORIENTING ELBOW 5516000007 8 8 20 2 25 10 14 10
WINKELSTECKVERSCHRAUBUNG 45° ] ] ] 2 2 ] 17 ]
RACCORD EQUERRE ENCLIQUETABLE A 45° 5516000009 10 0 o 265 30 13 0
RACOR A 45° CON ESPIGA LISA CORTA 5516000011 12 12 255 30 335 16 20 10

CONEXAO A 45° COM PONTA LISA CURTA

551 70 Code Tube A B L1 L2 CH1 CH2 D Pack.

5517000001 4  1/8 55 125 165 7 13 10 10
RACCORDO ORIENTABILE A 45° MASCHIO “UNIVERSAL SHORT” 55170 00 004
45° ORIENTING ELBOW MALE ADAPTOR “UNIVERSAL SHORT”

WINKELVERSCHRAUBUNG 45° KONISCH (DREHBAR) “UNIVERSAL SHORT”

6 1/8 55 205 175 9 13 12 10
55170 00 005 6 1/4 7 205 189 9 15 12 10

8

8

EQUERRE A 45° ORIENTABLE MALE, CONIQUE “UNIVERSAL SHORT” 5517000 008 18 55 22 185 10 13 14 10
RACOR A 45° ORIENTABLE MACHO “UNIVERSAL SHORT” 55170 00 009 174 7 2 2 10 15 14 10
CONEXAO ORIENTAVEL A 45° ROSCA MACHO “UNIVERSAL SHORT" 5517000010 8 3/8 75 22 205 10 17 14 10

5517000012 10 1/4 7 2,5 21,8 13 16 17 10
5517000013 10 3/8 75 265 21,8 13 17 17 10
5517000014 10 1/2 9 265 243 13 21 17 10
5517000015 12 1/4 7 30 231 16 16 20 10
5517000016 12 3/8 75 30 231 16 17 20 10
5517000017 12 1/2 9 30 256 16 21 20 10

2.11






